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BCQ/A-16
INCOME TAX
Paper-1
Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all, selecting at least one

e :

question but not more than two questions from each unit.
All questions carry equal marks.
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Unit-1 (3E-1)
Define the following :
(@ Income (b) Agriculture Income 8.8
e 3 Rt i
@ o @ wem 88
From the following particulars, compute the total Income

of Mr. John for the Assessment Year 2015-16 if he is
() Ordinarily Resident (b) Not Ordinarily Resident (c) Non-
Resident in India :
Rreferfae Raeer & ¢ frafeer a§ 2015-16 % fe ot 9 3 39
s ST BT 2R FeEr (o) W Fa (7) swerer Far
(®) SAfard 2
(# Salaryreceivedin India for services rendered in Spain
T 4,80,000
B 7 fa wem O 3 fre s & ot 3 4,80,000
@) Income from house property in Italy (60% received in
India) ¥ 2,00,000

zeelt & 7o wur @ o (60% A # ) 32,00,000
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A02) ;

(i) Profit from business in Canada controlled fror India
(40% Profit Received in India) ¥ 1,50,000
F1e] 7 FaHE | ¥, S 9Ra 9 a8 (40% W |
<) ¥ 1,50,000

(iv) Profit from a business in Kanpur controlled from Spain
% 92,000
A7 ¥ e sAE 7 e @ @ < 92,000

(v) Profit on sale of land in India ¥ 5,00,000
aid ¥ ff e @ @ T5,00,000

(vi) Technical fees received from Mr. Ram, a resident
for technical services provided to a business outside India
< 40,000

qRd ¥ BT a@HEl QA 5EF w9 9T Fa oo @

o @ B < 40,000

(vii) Profit from a business in Spain controlled from India
(out of profits, T 56,000 remitted to India)T 1,32,000.

16
W Fged S ARG 8 Feba @ moam (@ d @
% 56,000 w=@ &t 70) T 1,32,000. 16

Shri Vinay Kumar is employed in a firm at Delhi. He is in

the grade of ¥ 13200-330-16500 since 1.1.2011, He gets /
T 8,000 p.m. as dearness Allowance and ¥ 18,000 as Medical '

Allowance. He has been provided with a furnished

accommodation of the fair rent ¥ 6,000 per month, he has also
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(3)

" been provided furniture costing ¥ 1,00,000 by the employer.

He has been given a small car, which is used by him for
his personal purposes also. The driver’s remuneration and
all expenses relating to the car are borne by the employer. He
has been provided with the facility ofa gardener, a watchman
and a servant who are paid by the employer @ ¥ 800 p.m.,
% 1200 p.m. and T 1500 p.m. respectively. He contributes
14% of his pay and dearness allowance to the RPF towards
which the employer contributes an equal amount. Interest
amounting to ¥ 5400 has been credited on balance of
60,000 standing to the credit of his RPF Account. Assuming
that the salary become due on the first day of the next month.
Determine his salary Income for AY 2015-16. 16

o A7 g Rl & & wi § sdfw 103 112011 @
< 13200-330-16500 % = # ¥ 3% T 8,000 sfy = e
ﬂ%fm.oooagﬁﬂmaw_m&@dﬁmaw%
ge & o %, Rrew afee RRE 9w % 6,000 wReE 3
X 1,00,000 % @ 1 wtee o R gon B 9% ©% 99 a0
A Bt g€ 8, B 3% omd Pl wm 3 Rie o sl e B @
@ﬂmﬂﬂ%ﬁﬁ%ﬁﬂﬂﬂqwﬂﬂﬁmgﬂﬁm
aﬂw_a&ﬁuﬂ&#ﬂ%&ﬁ%%ﬁ&iw.ﬂ
ﬂ&ﬁqﬂﬁﬂﬂmoonﬂnﬁ.Mﬁuooﬂm_ﬂw%ﬂaoc?
31 81 3 gl aRre Fly ¥ e ol i W @ 14% siser
3 ? Rl Pl & < gom @ sis 31 o R Ry @
% 3 60,000 71 B, @i T 5400 =yt 3 o By @ B @@
A g 7 A or We & wem R 39 g 2w R o
2015-16 % g 379 & o F ET Ffwg 16
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Define the following :

()  Gratuity

() Deductions available under Section 24. 16

= &l ofenfva @R

® I=d

(M) 9T 24 B STl & T FeREH 16
Unit-II (3%%-11)

Write noteson :

()  Scientific research Expenditure

() Shortterm Capital Gain and Long term Capital Gain
(i) Tax Less Govt. Securities. 6,5,5
Fre o ool fafew -

() S oHEYN W g

@ HEE Yol A q SdE ol @

(i) FT-FF TEH AfrRrr 6,5,5
From the following particulars of Sri Vivek calculate his gross
tax liability for the assessment year 2015-16 ;

Salary . < 1,49,000
Income from business < 4,70,000 .
Royalty on books of colleges < 30,000
Rent from house property 320,000
Dividend Income 15,200
Interest on Govt. Securities T 8,800
Income of a minor son T 15,000
21130

(5)
Long term Capital Gain < 30,000
Contribution to PPF < 30,000
Life Insurance Premium Paid 310,000
Health Insurance Premium Paid by Cheque < 8,000
Donation to National Defence Fund , 35,000

16

Frafiied e & <t &% & P af 2015-16 @ g
T 3K P H T FHivm

EGES < 1,49,000
R | o <4,70,000
Fletl H TEIH W A 330,000
HEH FER R 320,000
GG 315,200
HH ARt o s ¥ 8,800
HIAEE P B S T 15,000
g goit @ 330,000
et Aty § sivem T30,000
St e it e 10,000
@ 41 fife 2% g ger < 8,000
TS g iy § a9 5,000

16

7. From the following information compute the total Income of

the firm and tax payable by it for the AY 2015-16 -
()  Profit from Industrial Undertaking 340,000
()  Profit from business of Poultry Breeding <20,000
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(iif)
(iv)
v)
(vi)
(vii)

(6)
Short Term Capital Gain
Long Term Capital Gain
Interest from Bank
Loss from House Property
Donation of approved Charitable Institution
by Cheque

20,000
T 40,000

6,000
¥10,000

< 15,000
16

wﬂa_@m%ﬂ@i%ﬁsﬂﬁﬁﬂﬁg, FHU-feiror
a4 2015-16 3 Ry Hfw :

@
(i)
(iif)
()
)
(vi)

(vii)

ST # T

FFGe TR FEEE § W19
STHRI Toft @
Qefpret gl

% @ wa =

THE gaiy & e

AT AT e} HR # A% g e

Unit-11T (3%7$-111)

<40,000
< 20,000
320,000
< 40,000
< 6,000
<10,000
< 15,000
16

What are the various authorities envisaged in the Indian

Income Tax Law and list out the functions of Assessing
Officers.

ﬁ%gwﬁmﬁ.wﬂﬁyﬁm&ﬁﬂngﬁwmﬁ
F-FUR afemiat & st ffe )
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(7)

9,  Write short noteson :

(i) BestJudgement Assessment
(i) AdvancePayment Tax

e oy fewel faftw -

(@) wdakm FR H-Fek

(@) B W PFrE

10. Describe the different modes of recovery of tax.

HT agel & Pe-Re qlst & aof i)
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